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Which two of the following are displayed within the Smart Panel of the Cúram user
interface?Which two of the following are displayed within the Smart Panel of the Cúram
user interface?
 
A. Shortcuts 
B. Quick Noteshttp://www-03.ibm.com/certify/tests/objC2170-011.shtml  
C. Pods 
D. Advisor 
E. Calendar 
 

Answer: B,D

 

 

Cam raises which of the following to inform the workflow management system that a task
has been completed?Cúram raises which of the following to inform the workflow
management system that a task has been completed?
 
A. Task 
B. Process instance 
C. Event 
D. Workflow data object 
E. Activity 
 

Answer: C

 

 

Which three of the following are components of an application tab in the Cam user
interface?Which three of the following are components of an application tab in the Cúram
user interface?
 
A. Page group navigation bar 
B. Application sections 
C. Modal dialog 
D. Shortcuts panel 
E. Context panel 
F. Navigation bar 
 

Question No : 1

Question No : 2

Question No : 3

IBM CUR-011 : Practice Test

2http://certkill.com

http://certkill.com
http://certkill.com


Answer: A,E,F

 

 

Which of the following statements about sub-rule sets is true?
 
A. They are reusable subsets of rule list groups 
B. They enable the ability to define, maintain, and execute rules over time 
C. They are outcomes of passing eligibility 
D. They are reusable subsets of objectives 
E. They are reusable subsets of rules 
 

Answer: E

 

 

Which of the following allows for the testing of Classic rule sets before the rules
development process is complete?
 
A. Rules editor 
B. Rule group 
C. Rules simulation environment 
D. Rule list group 
E. Loader 
 

Answer: C

 

 

Which two of the following must be present in a Classic rule set?
 
A. One main rule group 
B. One main rule list group 
C. One main objective list group 
D. One main sub-rule set 
E. One main objective group 
 

Answer: A,E
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